Relations Inverses (A)

12 x5=60

5x12=_
60+5=_
 +12=5
11x5=55

_ x11=55
55+ =11
55+ =5
10 x 7 =170

_ x10=170
70+7=
_ +10=7
10 x 6 = 60

_ x10=60
60+6=_
60+10=
7 %10 =70

 x7=70
70+ =7
70+ =10

Remplissez les espaces blancs.

9x8="72
_ x9=72
72+8=_
72+ =
11x5=55
_ x11=55
55+ =11
s 11=5
6% 5=230
_ x6=30
_ +5=6
30+ =
7 % 7 =49
Tx7=__
49+ =7
49+7=_
5x5=25
5x =25
25+5=_
25+ =

5x7=35
7x =35
35+ =5
35+5=_
6 x 10 = 60
_ x6=60
60+10=_
60~ =1
11x8=88
§x11=_
88 +8=
= 11=8
9 x 10 =90
10x =90
_ +10=9
90+9=_
12 x 10 = 120
X 12=120
= 10=12
120+ =10

5x7=35

_ x5=35
35+7=_
_ +5=7

6 x5 =730
_ x6=30
30+5=_
30+ 6=

8 x 10 = 80

x 8 = 80
. +10=8
. +8=10

12 x 5= 60
5x12=
60+
60+12=

I
p—
[\

6% 6 =136
6x =36
36+ =6
36+ =6
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